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Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
1t contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it te the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet,

De not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
unthout its envelope.

A separate Answer Sheet is given. & should not be folded or mutilated. A second Answer Sheet shall
not he provided. Oniy the Answer Sheet will be cvaluated.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Rell No., Question Booklet No. and Set No. {if any} on
OMR sheet and alsc Roll No. and OMR Sheet No. on the Question Booklet.

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

Each question in this Booklet is followed by four alternative answers. For each gquestion, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the correspanding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet,

For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
ar darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank {such question will be awarded zero mark).

For rough work, use the inner back page of the title cover and the blank page at the end of this
Bookiet.

Deposit only the OMR Answer Sheet at the end of the Test.
You are not permitted to leave the Examination Hall until the end of the Test,

If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
ae the University may determine and impose on him/her,
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Tisne /WY ; 2 Hours /9% ) Full Marks /quils : 300
Fots/M2: (1) Attempt as many questions as you can. Each question carries 3 marks.

(304)

2

(3).

One mark will be deducted for each incorrect answer. Zero mark will be

awarded for each unattempted question.

st yel ¥ W WA W R W A T 8 A W R T

E::mitﬂnnt:hlmnmmnuﬂﬁanﬂmnﬂlmmmmqa
I = i - - '

If more than one alternative answers settn to be approximate to the

correct answer, choose the closest one. :

?mmmmmtmmﬂ.ﬁﬂmuam
. |

This paper comprises of Five Sections. ﬁecﬁunalmdll are compulsory
whereas only one Section out of ITl, IV and V is to be attempted.

T8 Yeus ols weEi k) wvm [ w1 P § e e m, v g
viHda el ow w s 3R

1 (P.T.0.)
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1.

(304)

~in 54613 coded?

Section—I
wTE—]|

MENTAL ABILITY
(Compulsory for all)

In a certain code, 2 is coded as P, 3 as N.guO,SnR.-#uAnndﬁanH.Hw
is 599423 coded in that code?

MpizRrPrEiwd, 3w N9WQSMRAVMNAWERMES
¥ A pwn fen wn R s gz 590423 W few s . e e ?

(1) EUDPC (2) RQPANB  (8) EIMDBC = (4) RQQAPN

In & certhin code, 3456 is coded as ROPE, 15526 is coded w8 APPLE, then how

At w2 & 3456 W ROPE @ 15626 W APPLE & w1 § wdym fem i
M 54618 W e yeR Wiy fwn wem?

(1} RPPEO (2) ROPEA (3) POEAR (4) PAREO

if CIGARETTE is coded as GICERAETT, then DIRECTION will be coded as
a® CIGARETTE ® GICERAETT % W #f gfipu fww 7w %, @ DIRECTION
w fisn o ghwn fem Iam? ‘

(1) RIDTCENOI (2} NORTECDL (3) NOIETCRID ' (4) IRDCTIONE

In a certain code, PAPER is written as SCTGW. How is MOTHER written in that
code? - p

W ¥ ¥ PAPER W scTaw % W # Rmn ma %, ® MOTHER Wt 38 ] ¥
fisw wir fovan wrem 7 )

(1) ORVLGW  (2) PQVJQT (3} PQXJJIT (4) PQXXJV
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Directions : Chooae the group of letters which is different from others.

Rin :

6.

M%mmmmd,ﬁﬁmﬂqn_tl
(1) CFIL (2) PSVX  (3) JMPS (4) ORUX
{1) DXCLQZ (2) PFZUBM (3) XGKNTY (4) NWMBHJ

m:mmhdmmmqmm.mmmmmmmm
inwhi:hﬂwynmuinﬂwdicﬁnuuyandﬂunchoqoeth:nqmtwqumm.

L

: el v e F Ay ol W v & EER af@m W ek

m._ﬁmmmﬂl .
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(304)

{#) Preach, (b) Praise, (c) Precinct, m Procept; (o) Provede

(1) ), @), @), @, © 2) ), (@), (©), @), ©
3) M), (e}, (@), @, © @ (@), (), @), @), (©
(8) Select, (b) Sckdom, (c) Send, {d) Selfish, (e} Seller

() @), ®), @, (), (© @ @ e o @), @
@ ), (@), @, €@ © @) ®) () @) (@), ©

Compare the knowledge of persons X, Y, Z, A B and C in relation to each other
(a) X knows more than A

(b} Y knows as much as B

{c) 2 knows less than C

(d) A knows more than ¥

The best knowledgeable person amongst all is
(1) X ' 2) Y (3) A . (4 C
3 (P.T.0)
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10.

XY, 2, AB @ C e st # ¥ w-gat ® waed B geen
(@ X, A sfts aa ¥

(b) ¥, B % wam amm &

(¢) Z,C & W w=r X

d) A Y @ st o &

mammﬁma
(1) X (2) Y (3) A - 4 C

If (a) P is taller than Q, (b) R is shorter than P, {cjshnun-mnrhuuhnmr
than Q, then who among them is the tallest?

M@wr,oRNEmimiwwe, HRPAGTY, (8 T3 v, fing
QRWZ R, W I ¥ W TR W W 7

(1) P (2) Q @s (@ T

Directions : Choose the number which is different from others in the group.

dw -

11.

13.

13.

(S04)

I w0 W R W, W% T W@ e s § quw b
(1) 12 (2) 25 (3) 37 (4) 49
(1) 381 (2) 552 (3) 729 {4) 903

Which of the following is not a ‘greenhouse’ gas?

(1) Ozone (2) Methane (3) CFC (4) Oxygen

fra & W7 o e fw Tl 87

(1) A (2) (3) WoTHodlo (4) aAfwdtm
4
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18.

16.

17.

(304
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125% can also be written as

125% W i & & R wow ot v w1 T R7

(1) 12500 (2) 12-50 (3) 1250 (4) 0125

Which of the following were the main crops during ‘Indus Valley Civilization’ ?
(1) Wheat and barley (2) Wheat and pea

(3) Barley and pea {4) Berley and gram

W d R e fag v v’ A gen v df7

(1) M ik sh (2) 7 s 7

(3) M IR w= (@) o 3w

Which of the following rivers is associated with ‘Harappa’ ?
(1) Ravi (2) Vyas (3) Satiuj {4) Indus
& & ¥R-d 7 ‘wwen’ @ awfRa 47

(1) e (2) == (3) weers (4) foy

In respect of other planets, which of the following planets rotates in
‘anticlockwise’ around sun?

(1) Mercury (2) Jupiter (3) Venus (4) Mars
™ TE % wiw e i Wem o weetE we A gd B ofoen s A2
(1) 3 (2) Feefa (3) (4) W
5 (P.T.0,)
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18.

19.

al1.

(304)

The difference of two numbers is 20% of the large number. What will be the
value of larger number, if the value of smaller number is 207

2 vEmil W R €9 Ten W 20% ¥ U oA wewm 20 }, @ ¥H wou W
W ¥ e Y

(1) 25 (@) 45 (3) 50 4) 55

March 5, 1999 was on Friday, what day of the week will be on March §, 2000?
(1) Sunday {2) Monday (3) Tuesday {4} Wednesday
R 5 7, 1999 ® YHEAR Wi, A 5 A, 2000 W TAE W PA-E AN ¥W?

(1) TREw (2) drwEn (3) WTRTER (4) YR

Which of the following pairs is correctly matched?

{1} Malaria : Virua (2) Smallpox : Plasmodium
(3) Goitre : Fungi ' (4) Leprosy : Bacterium
fraffem & A W-m 7w gfw 47
(1) wefam : faam (2) ¥9% : SRR
(3) %o : ww (4) 38 : d=hiem
The misaing number in the foﬂnwihg uquunca' is
frafofem wa & qu " ¥
| 4,9, 25,7, 121, 169
(1) 45 (2) 36 (3) 40 (4) 49
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23. In a group of cows and hens, the number of legs are 14 more than twice the
number of heads. The number of cows is

el wm gftE % o w4 B GEn e R R e F O @ 14 AR
{1t 6 v R

(s | (2) 7 {3) 10 (4) 12

23. Which is the least number which when divided by 15, 21 and 18 leaves 7 as the
remainder?

Ay - oom § e 6 15, 21 3R 18 @ W B w7 w=w R
(1) 637 (2) 627 (3) 647 (4) 747

24, Out of the following alphabets, which makes a meaningful word after
interchanging the first and last lstter?

Frafofen st & |/ arr v 3R sifm om @) wed o fren s, @ P A @
firn e & wrf Wi e w A7

(1) KAME (2) EAKM (3) EMKA (4) MEKA

26. Il‘x’+%-14, then x3+%-?
L RPN ISP N . T
x X

(1) 98 (2} 46 (3) 70 {4) 52

(304) 7 (P.T.0,)



15U/102/4 Set No. 1

Section—Il
BvE—II
CHEMISTRY
(Compulsory for all)
26. The coordination number of a metal crystallising in a hexagonal close-packed

structure is
T wea-t% T § el o o ) e G
(1] 12 (2) 4 (3 8 . 4) 6

27. In the reaction xFeCl, + yH,;8 — FeCl,; + S+ HCI
xFeCly + yH,S - FeCl, + S + HCl afRifima
(1) x=2,y=1 (2) x=3,y=2
(3) x=4,y=3 4) x=2,y=2

28. The rare of diffusion of methane at a given temperature is twice that of X. The
molecular weight of X is

WA R R A x AR Y, X w oA om R
(1) 64 (2) 32 (3) 40 (4) 80

49. 44 g of a gas at STP occupies a volume .er 224 L, the gas can be
4-4 7 8 STP W 224 L amem Aoft &1 @ v & wwet @

{1} O, (2) CO (3) NO, (4] CO,

{304) 8
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If 0-50 mol of BaCl, is mixed with 0-2 mol of Na4,PO,, the maximum number of
moles of Ba,(PO,), that can be formed is

R 050 mol of BaCl, M 02 mol Na,PO, % wm e € @A w1 =
Bay(PO,), % ftmem diwl & wen §

{1 07 2 05 (31 03 (4) 01

The pH of a 0-005 M H,S0, solution is

0-005 M H,SO, ¥ pH ¥

(1) 50 (2) 2:0 (3) 23 (4) 33

Which of the following will have highest flocculating power for ferric hydroxide
colloid? |

i wgirne wemE & e % fou fefafen & @ # waffts sofa e

am &7
(1} K3[Fe(CNJg) {2} K,CrO,
(3) KBr {4} K,80,

Electrolysis of an aqueous solution of sodium chloride leads to the formation of

(1) Na and O, {2) Na and Cl,
{3) H, and Cl, {4) Na and H,
wefiy wifdn sl & fga smue @ a

(1) Na 3R 0, (2) Na 3 cl,
(3) H, 3 Cl, (4) Na 3 H,

9 ~ {PTO)
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37.

(304)

Which of the following has smallest ionic radius?
frefafa f @ o 3w awPe fen e {7
(1) Na* (2) N*- (3) A1* (4) Mg

The most basic oxide is

waiftes arfin Afears 4

(1) Na,O (2) Al,04 {3) 80, "~ [4) NO,
Which of the following has maximum ionisation energy?

frafofe d 4 9 afeom aem i wm d?

{1) Be 2) X (3) Na (4) Mg
Which of the following gives NO, on heating?

Pt # & #9 w ®@ W NO, Jm A7

(1) Pb{NO,), (2) KNO, (3) NaNO, (4} NaNO,

Which of the following nitrogen halides is most stable?
frefeferr 4 @ a9 s tomye waifie wurh ¥7

(1) NI, (2) NBr, (3) NCl, @ NF,

Which of the following ions is colourless in solution?
Prffn art f @ #R frees F ol 47

(1) V3 @) cr (3) Co** (4) Sc**

10
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40. Which of the following mmpnﬁndu does not exist in the solid state?
Pt vl & /@ ¥ dm o F A6 w27
(1) NaHCO, (2) LiIHCO, (3) KHCO, {4) RbHCO,

'#1l, Which of the following compounds is coloured?
AR & 3 w1 oA R?
(1) KO, (2) Na,SO, (3) KIO, (4) KNO,

42. Which of the following is not an electrophile?
Pafafe & @ ¥ wwlt oft o 27
{1) (CH,)sN (2) ALCI, (3) 80, (4) NO;

43. IUPAC name of

@-«:H,OH
i! .
(1} benzylalcohol (2} hydroxymethyl benzene
(3) hydroxyphenyl methane (4} phenyl methanol
O—Cﬂaﬂﬂ ® IUPAC 7% ¢}
(1) ¥ AeToewela (2) TEEtRh A WA
(3) egiwh e fils (4) Sy v

(304) 11 (P.T.0.)
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44. Which of the following alkyl bromides may be used for the synthesis of
2.3-dimethyl butane by Wurtz reaction?

(1) n-Propyl bromide (2) Tsopropyl bromide
(3) Isobutyl bromide {4} s-Butyl bromide
mmmﬁammmmm«mw#m
# wam @m 37
(1) n-SiRE ST (2) WETHYE W
(3) WErSfes WrTEs {4) s-wyfem Wy

48, Which of the following does not react with ammoniacal cuprous chloride?
{1} Ethyne (2) Propyne (3) 1-Pentyne (4) 2-Butyne
P & 2 # soifrEn T wE @ o T w47
(1) T (2) S (3) 1-¥=ene (4) 2-%EH

46. Which of the following carbocations is most stable?
frfefee wivae # @ 99 waite @l 27

& ) :
(1) CH,CH, (2) CH,=CH (3) HCw=C (4] @

47. Which of the following does not undergo Cannizzaro reaction?
frafefen 4 @ 9 Fferd sl o =@ 27

(] CHyCHO (2 HCHO  {3) CHiCHO  (4) @—cuo

(304) 12
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Which of the following is not a nucleophile?

fPafefen 4 @ ®7 ofineerd off 47
(1) H,0 (2) SO, (3) NH, (4) CHyNH,

Which of the following gives positive iodoform test?
fofefr 4 % w19 swoes ARl giew 2n 47

{1) CH,OH (2) (CH,),CHOH
(3} (CH,);COH (4) CH,0H

Phenol is less acidic than

(1) ethanol C ot aedeot

(3) p-nitrophenol (4) p-methyl phenol

fete fiseR w0 anefia 47

(1) eils (2) A=Te

3) p-TRRATE @) p-Afre Rera
13

(P.T.0.)
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81.

Section—Iil
. meE—n
PHYSICS and MATHEMATICS
(Physdcs)
Kilo Watt Hour (KWH) is the unit of electrical
(1) energy (%) power (3) engine (4) force
fireirare. s (Wowwgenwe) vl & Rrgn
(1) =i # (2) wits @ (3) ¥ 4) ™ H

If an iron needle floats on the surface of water, then the reason for this event is

(1) viscosity of water . (2) buoyancy of water

(3) surface tension of wnt:r (4) cohesive force of water molecules
R wn € @ gl o H oww w A X, N W T W e
[1|tr|=frﬂﬁm (2} T & IEEER W

(3) WFt W ¥ W (4) TR % 2 W wEEw =

The isotope of carbon used in carbon dating is
writ v fufo # wei ® We-w weRE Wi # s 47
(1) clﬁ (2) cH (3) Cm ' () i

14
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Ball pen functions on the principle of

(1) viscoaity (2} surface tension

(3) gravitation (4) friction

o 5 Fr 3 2 o g o w7

(1) v (2) 78 ¥ (3) TR (4) W

'_'-"H-.AMB@B revolving around the earth in circular orbits of radii R,
and R, respectively. The ratio of their orbital periods (T, /Tg) will be

T ATH-B YW & Wi A R, "W R, s W wwi 4w @ K ok

vt ¥ by Wil T, TN T, W W A WM

a /3 /3 3/2
51] [ﬁ) [_,m ] _ [&LJ
(M [ - @ | ®) |7 Ay

Anmi;:g[oliﬁhmﬁmwithLQﬂnmlnngmnnmmrmprudum 10 beats per
sec, If the length of sonometer wire is changed to 22 cm keeping the tension in
the wire same, then their is no change in the frequency of beats, Frequency of
tuning form in Hz should be .

% e 20 cm W WO ¥ AR ¥ W wT wen gen W @ 10 faede
Fwwa R R M B v 22 cm F e A TR oo F ww o @R, A
iz anaft 3§ B ofteds off 9w 1 = @t sy @ w # W wfie

{1} 210 (2) 205 (3) 215 - {4) 200

15 . (P.T.0.)
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87.

(304)

In the Young's double-slit experiment, 20 fringes are absorbed to be formed on a
certain segment of screen when light of wavelength 600 nm is used. If the
wavelength of light is changed to 400 nm, then the number of fringes absorbed
in the same segment of screen will be

iﬂtmmﬁnmﬂmmﬁmmﬂnMWt.ﬂﬂ
twﬁﬂnmﬂmw&mﬁ(ﬁ}mﬂmllaﬁmﬁmmw
mmmauﬁ,ﬁﬁtmﬁamﬁuﬂmﬁﬁMWM?

(1) 40 ) 30 - {(3) 10 4) 15

When the light enters the glass from air, which of the following statements is
true? : : :

(1) Its wavelength increases | {2) Its frequency increases

(3) Iis wavelength decreases (4) Its frequency decreascs

wu v o A ww § wAm = §, @ B F @ W e ow
(1) v il wgeft R (@) v iy g R

(3) v wovtwd weeht R}  (4) vl gt wah 4

The threshold frequency of photoelectric emission from a material is
6x10'* Hertz. Photoelectrons will be emitted when this material is illuminated
by monochromatic radiation from

(1) 50 watts infrared lamp (2) 40 watts Ruby Laser light
{3) 30 watts sodium lamp (4) 20 watts ultraviolet lamp

16
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foelt ved % Rt wem fgfan Wkt % sl @ e AR 6x101 W R
e w frr § A e oW @ e W W Iw @ Rl I e

(1) 50 =2 % @R 79 & (2) 40 T2 & W AW W

(3) 30 ¥R % @ftwm & A (4) 20 arz % qokrh & B

If the radius of the carth were to shrink by 2%, its mass remaining same the
acceleration due to gravity on the surface of the earth would

(1} decreasc by 2% (2) increase by 4%

(3) increase by 2% | (4) decrease by 4%

ﬂﬂuﬂmﬁﬁﬂhwmmmﬂﬂ,ﬁlqﬂﬂ
e W TRl '

(1) 2% W& WA | (2) 4% Wy wAW
(3) 2% W§ WA (4) 4% W WR

Two bodies A and B of equal masses are suspended from two separate massless
springs of spring constants k; and k; respectively. If the two bodies oscillate
vertically such that their maximum velocities are equal, then the ratio of the
amplitudes of the vibrations of A to that of B will be

e TewE weh 9 wRl A W B R wee oW q peer welt wnie (fB0)
fw O fodw &, awr k, & @ wow off 1 R = 9wl safw

e kW S w T e Wt
o Y, WY A S Jow &k am B WG B & QN

wl
ky [ k ko
{1} J; (2) 1 (3 %, {4) *,

kq

17 (P.T.0.)
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63. A lens is formed by pressing mutually two identical plano-convex lenses each of
focal length 40 cm. It is used to obtain a real inverted image of the same aize as
the object. The object must be placed at a distance of

mmﬁn@mﬁmmmﬁﬁﬁmmqhm-@ﬁ‘
W s dW W v W da R e Ty W e w3 wRfe ag
% AWK & @ W amer d ww WAL Rl oag W S A el e Ty

(1) 100 cm (2) 80 cm (3) 60 cm (4) 40 cm

63. 70 calories of heat is required to raise the temperature of 2 mol of an ideal
diatomic gas from 30 °C to 35 °C at constant pressurc. The heat required in
calories to raise the temperature of the 2 mol of the same gas by the same range
(30 °C to 35 °C) at constant volume will be

e s W % 2 e W WM 30 °C A 35 °C wE fAw g W g ¥ PR
70 el wun € wew T 4 R 6 3 e ¥ 2 We W S @ (30 oC
A 35 °C) ¥ fAR WREA W MR wgR & RA S feed e wie

(1) 30 (2) 40 (3) SO (4) 60

64. A thin gircular ring of mass M and radius r is rotating about its axis with a
constant angular velocity o. Two amall particles each of mass m are attached
mﬂyHM-wmdaofldhmtﬂrafﬂummmmﬁumum
with an angular velocity

M 7R W ¢ ST wen o Teen e w0 e & Wil ol T Wi
Mod@WwhImpRMRIimAiave T m 30 88 W oW
wra % Q) ferl Rl W o dR & doex oy R §) oW 39 wR W wivia an

e & ardm?
oM oM o{M+2m) ofM+m)
0w D onom @G @ elem

(304) 18
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68. Which one of the following logic gates is not the basic logic gate?
e ot 78 # & F-w i e offe 12 A 7
(1) AND (2) OR (3) NOT (4) XOR

66. The practical unit of radipactivity is

(1) Curie (2) Becquerel (3) Rutherford (4) Rontgen
i wiemm f =Emis el w0 47
(1) =@ (2) ¥ (3) = (4) T

o 8

. @&7. The number of protons in a heavy stable nucleus is

(1) larger than that of neutrons (2) smaller than that of neutrons

(3) same as that of neutrons (4) half the number of neutrons
o wh v § el @ den ARH @ gen

(1) & siftes oreh (2) ®. %7 o R

(3) % AR Bt & (4) & amet ot ¥

68. Which of the following material rods is uledu controtler in a nuc::har ﬂm?
{1} Graphite (2) Beryllium (3) Cadmium (4) Uranium
fra vl # & fewd oyt B Rl TRl Rt § Fdae & w0 F i w@ #7

(1) o2 (2) s (3} ¥ufiem (4) Qe

(304) 19 (P.T.0.)
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A charged particle is relcased from rest in constant uniform clectric and
magnetic fields which are parallel to each other. The particle will move in a

(1) circle (2) helix (3) straight line (4) parabola

w amiftm w1 @ Pffw (o) 3 owmme dge @ el ot W) T
R § fiwmeen # vt awn & wn ofy W oe

R L& (@) wusfert # (3) weeian # (4) waerm o

The current i in the circuit shown in the figure below ia
MR IR omiw ot

:
2Vv—=— 300 son'
'. F Y
anq
1 o ' '1 1
115 ll5 ”1‘5A f*lw-'t

A charged particle of mass m and charge q is fixed on a amooth herizsontal plane
surface. A second particle identical to the first is deflected with velocity v on the

same plane towarda the first particle from a long distance. The distance of
closest approach of the second particle to the first particle is

m PEH AW gy ? amfm v ow e dfte wwe W fRm b oW %
mﬂhmgﬂm LR R R R R R R R
frn W §1 gW AR % fwam ofwd @ g0 wn g7

2

1_ 2497 1 mo? 1 2mo?
B i E
th 4x2y my 3 4ney 2 = 4ne, 2q° t4 4nc, ) q°

a0
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The napadtnno: of a parallel plate air capacitor is 15 pF and the distance
between its plates ia 6 mm. A copper plate of thickness 3 mm is moved between
the plates symmetrically. Now the capacitance will be

& WAERR D2 a1y gafa @ afen 15 uF § e vk W % e R 30 6 mm
!tﬁﬂﬁiﬁﬂﬂmﬁﬂiﬁﬂﬁﬂ@zm et a1
wifen wft

(1) 15pF (2) 30 uF (3) 7-5uF (4) 22.5pF

Two thin long parallel wires separated by a distant b metre are carrying a
current i ampere each. The magnitude of the force per unit length exerted by
cone wire on the other is

2 T R AR TR b AR i w fRn € o 1@E 4 i RmW aw w

_mtlmmmzﬁmmm&ﬁnuﬁmmmw-ﬂmqﬁma

Boi ol Boi?
msz ”21:’ mgb“ ”2.&

Two small magnets of magnetic moments 10 Am? each are placed at a distance

of 0-1 m between the centres in end on position. The force acting between them
is

R} R waw W Rl s w ogeda w10 Am? R, s fRR § I
¥ 01 m g0 ® wn Ry I dw wR wen w o}

(1) 0-6x10"' N (2) 0-6x102 N

{3) 0-6N (4) 0-6x10° N

21 (P.T.0.)
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76. The amplification factor of a triode is 20 and its plate resistance is 10 k. Its
mutual conductance is

W IR W YAET U 20 TN W W2 YT 10 k0 #| Wl el wremn

#1 59 &
(1) 2x10™° mho (2} 5x1072 mho
(3) 500 mho (4) 2x10° mho

(304 22
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(Mathematics)
76. If A and B arc any two sets, then value of (AUB)-A is
WA ey §, @t (AuB)-Awm A}
(1) B-A (2) A-B (3) A 4 B

7. If f be a real function, then domain nff{x]-=lo:|x| is

R 7 v anatew wow X, DL (x) = — TR (8A) R

log | x|
(1) R (2) {-L0,1} 3) R-{-,0,1} (4 Ru{-,01}
1 1 1
78. mmurlm¢m+hg,m+m,mh
1 1 1
w
l'ngnabc-l-hﬁbm-*.hﬂcal?c e
(1) O (2) 1 ' (3) 3 (4) =
™ If
oft
a+1ib
X+l = c+id
then value of (x* + y2) is
M (P+y)P WA
a? -b? a+b\? [a-b]a a? + b2
a o -d? @ (c+d) & c-d [4] c? +d?

304 23 {P.T.0)
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81.

The value of

3+2ml 41-3“:: ﬁ+ (olo] | 5

is

m“%+2mn’%+3m*%+4ms’% w T R

(1} 6 (2) 8 (3) 10 (4) .12

General solution of the equation 3 cosx+sinx =1 is

R 3 coax+sinx=1 W W ™

() x-ﬂm-% (2) x-2m+%
o X I
(3) x 2m:+3_ (4) x=2nxn 3

Solution of 2 (2x+3)-10<6{x-2) is
2(2x+3)-10<6(x-2) W W §
(1) x<4 {2) x>4 (3] x<11 4 x>11

Solution of an equation (x +1){x+2)(x+3)(x+4)+1=0 ia

T (x+1)(x+2)(x+3) (x+4)+1=0 T ¥ R

(1) x=%5 (2) x=1% 45 (3) x-EiJg (4) x_-S;JE'_)

2
24
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x50 Elf;’ +1

Ljﬂ[ﬁ__l}mmt

il
mmofm[u]h

e/ 41
(1) 1 2) 0 {3) -1 (4) 2
n+l
If Geometric Mean between two numbers a and biaﬁ then value of n
+
ll-

ﬁi’rimﬁadhbmmm—*b":t @ nw AR R

a" + b

(1) -1 2) 1 (3) % (4) -4

9
Thevn]mufthctmnmdepmﬂmtofxmth:mmnnf( x _:.’.l_x] is

[3x=_§_] * famm & xﬂlﬁﬂﬂtﬂﬂﬂt

2
M @ - @ = z L
The value of "C2 + "C? + "C3 +--+ "C] is
+"Cl+"Ci++"Clwm AR}
) 220 2 Eﬁ':}’z' ) [[2"!’ '] LR
25I (P.T.0.)
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as.

21,

(304

How many different words can be formed by using all letters of word
‘ALLAHABAD?

W ‘ALLAHABAD' % 380 % W @ wo fkeR amemr-arem we wrt ot wwd &7

(1) 9! (2) :—: ' (3) 7460 (4) 7560

IfIEI:ZlEl-‘?nnd ;u3=3?+2}+6£ then angle between @ and b is

R |a|=2,|b|=7 T axb=3i+2j+6k M a 3R b & ¥ W w0 b

(1} 30° (2} 60° (3) 90° (4 120°

The straight lines 2x+3y+4+k(6x-y+12)=0 and ‘?x+5y—4uﬂ are
perpendicular, then value of k is

WEREN 2x+ 3y +4+k(6X-y+12)=0 W Tx+5y-4=0 TH-TE T A
L Rkwmamt

29 29 37 37
1) 5= s 2L .
(1) 37 @) 37 (3) 29 (4) 29
The radius of the circle x? +y? +8x-16y +64 =0 is
9 x4+ y? +8x-16y +64 =0 B Fow w 37 §
(1) 16 (2) 8 (3) 4 (4) 2

26
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93. The value of eccentricity of the ellipse 16x? + 25y =400 is
e 16x” + 25y =400 6 M W 7A R

3 3a 5 3
(M Z @ |2 @ 3 CF-

3
93. The value of lim 22 JTB0X 4
i t:ou(xrrg)

tan® x - tan x

el

w 7 b
4
(1) 4 @) -4 @) -243 (4) 4432

d

' o4, Thevah:eofﬁ[m—'-r]iﬂ

sin x —cos x
d [:in.:+cusx

dx ah:x-muz] w e

om Y s
—-— x.

2 2 :
M 1 +8in 2x @ 1-8in2x ) 1+s8in2x

©5. If the three vertices of a'parallelogram ABCD are A (3, -1,2), B(L 2 -4) and
C(-112), then coordinate of fourth vertex D is

TR R wgdw ABCD ¥ v widfag A (3, - L2), B(1,2,-4) 70 c:[-u.z}
fie & @t % vid D = Aww R

(1) (L-2.28) (2 (-1, 28]} (3 (30,8) (4) (1,2 8]

(304) 27 (P.T.0.)
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96.

98.

(304)

The equation of the plane passing through (1,1, —1) and perpendicular to the
planes x+2y+32z-7=0 and 2x -3y +4z=0

W oEwE (D) ® whwm, W AR (L1,-1) § TR Ot own wwwE
Xx+2y+32-7=0 T 2x-3y+42=0 W 7% &, ¥m

(1) 17x+2y +Tz=26 (2) 17x-2y-Tz=26

(3) 17x+2y-Tz=26 (4) 17x+2y-Tz+26=0

One number is chosen from numbers 1 to 200. What is probability that it is
divisible by 4 or 6 ?

1R 200 w6 aiwl § A Tw siw qw wm A1 WA TR oW R 4 W6 A P
W @ sl v 47
83 . 67 99 . 101

) 200 @ 200 % 200 ® 200

The value u{'l‘ - is
gin(x-a)cos{x~b)

w e R

j dx
sin (x-a)cos (x - b)

1 gin (x-b)
{li m{a-b}lﬂi' cos(x-a) ve

1 cos{x-b)
l'm[a-bllog' vk

@ ain (x-a)

@ 1 log, cos(x-a)

sin (a-b) B¢|coa(x-B})| ©
) 1 sin(x-a)

mu{a—h]!ag' cos (x-b) e

28
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The value of
x8in x
—-——-—-T--dx
El«t-c:ni x
is
X 8in x
L X dx W 79 8
l+cos* x
" n? x ' x2
mz @ @ 3 @ %
Muﬁnnnfdiﬂamﬁnlm&m%=cm{x+y}h

mmg-mtnwﬂwi

(1) m[’%ﬂ =X+C (2) tan{x+yj=x+c
(3) tan (x+y)=-x+c (@) lm(ﬂ]-lxhc
. 2 2 2
29

(P.T.0)
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101,

103.

103.

(304)

Section—IV
WV
BOTANY and 200LOGY

(Botany)
Bionomial nomenclature was given by
(1) Whittaker (2) Linnaeus
(3) Theophrastus (4) Aristotle
e # fam g fea® g @ w7
(1) TR (2) e (3) Reirwrea

Largest herbarium in India is located at
(1) Lucknow {2) Darjecling (3) Howrah -

T W AW W soifen el fam f7
(1) TS (2) Tiifem (3) wEWm

The accumulated food reserve in fungi is

(1) protein (2) glycogen (3) fat

=Wl ¥ wnft @RE-mmg v W 7

(1) W= (2) EmpEae (3) =T
30

(4) ¥

(4) Dehradun

(4) Tw

(4] starch

(4) wrd
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The cell wall of bacterium is made up of

(1) peptidoglycan (2) cellulose
(3) glycogen (4) lignin
W 6 Sftm-ff fife® v o 27

(1) YRR (2) AeqEi (3) TETRRIRA (4) fofim

‘Clamp connections’ are found in

1) Basidiomycetcs (2) Oomycetes
(3) Zygomycetes (4) Ascomycetes
‘Wm-wwr el o w47

(1) defdsimmeifs (2) S
(3) SR (4) TERTEE

The cyancbacteria are also referred to as

(1) diatoms (2) slime moulds
(3) blue-green algae (4) red algae
et w fer & @ WR-w g oo 87

(1) IAEH (2) =W A=
(3) |- g | (4) & o= h

31

P.T.0)
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107.

108,

109.

{304)

Living fossil is

(1) Ginkgo biloba

(3) Pinus gerardiana
e s 4

(1) f=em sreia

(3) Ty W

‘Sago palm’ is
(1) Cycas circinalis
(3) Cedrus deodara
U am’ wwE t
(1) ARAeR R
(3) #y"

Maiden-hair fern is

{1) Pteris (2) Adigntum
‘Tia-kw ' weomr b
(1) 2Rw (2) vAww

{2) Gnetun ulva
(4) Taxus baccata

(2) fier s
(4) dwww W

(2) Cycas revoluta
(4} Ginkgo biloba

(2) wwReR G
(4) Fewmt arvEi

(3) Lycapedium  (4) Dryapteris

(@) T (4 JeRE



110.

111.

112.

113.
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In Cycas, pollination takes place at

(I) 3-celled stage (2) 4-celled stage
(3) 2-celled stage (4) l-celled stage

aren ¥ wor R seeam 3§ @m &7

(1) 3-9ftrer smeqr - (2) 4-WRWR e
(3) 2-wifire swedr (4) 1-wifeve v
Which of the following contains xylem vessels?

(1) Pteridophytes - (2} Bryophytes

(3) Angiosperms (4) Gymnosperms

e § A fend sem e o o 7

(1) oremze (2) WA (3) PRty (4) frsienia
Which of the following ia monoecious?

(1} Papaya (2) Pinus (3) Cycas (4) Marchantia
= # @ W A 47

(1) -t . (2) S (3) wRE (4) adFaar
Fusion of two gametes which are dissimilar in size is termed as

(1) isogamy (2) anisogamy  (3) oogamy {4)  zoogamy
o WA AR & YOS & e W s e d

(1) Tt (o) G (3) s (4) d

- 33

(P.T.0.}
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114, Which of the following is called amphibians of plant kingdom?

{1} Algae o (2} Bryophytes

(3) Oymnosperms (4) Pteridophytes

T W W R B A e w67 |

(1) T (2) weRE  (3) Pl (4) deeRE
118. Longest style is found in

(1) bajra (2} pea (3) wheat ' (4] maize

R wal affe R arf wwh &7

(1) W 2) "R @ M (4) we

116. Stamens are branched in

(1) Ricinus {2) Buphorbia  (3) Hibiscus (4) Calotropis
= & ¥ femd gFw e B %7
(1) R ' (2) Iwffa (3) RAw (4) Fezfm

117, Smallest seed is found in

(1) Lodoicea {2) Orchids (3} Zostera (4) Wolfia
TR oz W el oen S k7
(1) wrwryfrar (2) SFRgw (3) MY 4) I
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Trimerous flower, superior ovary and axile placentation is found ip
{1} Liliaceae (2) Solanaceae

(3) Cucurbitaceae (4) Compositae
ﬁm?w,zmﬁmqiaﬁﬂwmmﬁmﬂwwﬁrt?

(1) ffereeh (2) W (3) iR (4) :m’tﬁfr

Basal placentation is found in

(1) Compositae (2) Papilionaceae
(3) Solanaceae ‘ (4) Brassicaceae
smRew Aaearw sl grr wmm R7 | .
(1) wife (2) R (3) W (4) ek
Leaves of Utricularia are modified into
{1) Hooks (2) Tendrils {3) Pitcher {4) Bladers
IRFIR B Rt feel woRa w87
(1) T 2) M= (3) (4) wasL
How many female flowers. are found in a Cyathium?
(1) One (2) Two (3) Thrqc (4} Many
wRfen # e R g g aR §7
(1) @& @ 2 (3) (4) *

35

(P.T.0)
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133,

Replum is present in the ovary of

(1} Hibiscus (2) Alkium - {3) Muatard (4} Cucumber
ferd wvem # Yem TR W 87

{1) Rfess (2) TRrm (3) et (4} TR
Flowers 'm Zygomorphic in

(1) Guimohar  (2) Mustard (3) Tomato (4} Datura
e A & At g e e e B €7

(1) Femine (2) Wl (3) T (4} =@
Axile placentation is found in |

(1) tomato (2) cucumber (3) wheat (4) muastard
e M e o w7

(1) e (2) FYR (3 M (4) el
Phyllode is present in -

(1). Opemtia (2) Asparagus

(3) Euphorbia (4) Australian Aegein

sty fiswlt o w7

(1) Foreh (2) PR

:31_1* (4) e g
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128,
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{&oclogy)

Lamarck’s theory of organic evolution is known as
(1) natural selection |

(2) inheritance of acquired characters

(3) ontogeny repeats phylogeny

(4) artificial selection

dmk W e e g wEem 4

(1) g |

(2) sofim =l o Ffy .

(3) =fe frrm wfy e = Jwom R

(4) ¥Bm T

Animals with ant eating habits are called

(1) Sanguivorous (2) Carnivorous

(3) Insectivorous | (4) Myrmecophagous

e v & witel = w3 §

(1) #rihw (2) W (3) wawdea (4) Frfrers
Phylum Protozoa is divided into four classes on the basis of their

(1} nuclear structure (2) locomotor structure

(3) mode of reproduction (4} mode of nutrition

37 (P.T.0)
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129.

130,

(304)

fr=r & ¥ il amaR w AdEan @9 W Wil d e gan 47
(1) ¥% B FoEn (2) TR frwws wo=
(3) W= = &N (4) Moo w F

Archeopteryx, a transitional fossil between birds and reptiles was discovered
from the rocks of

(1) Jurassic Period (2) Archeozoic Era

(3) Cretaceous Period (4} Triassic Period '
wrfFirfen o T wlge # & @9 = 0w el e @ PR Be o &
A 4 e fen @

(1) Ffw e (2 R

(3) firRmm = (4) yefes we
Cytochromes are

(1) riboflavin containing nﬁclmtldes

(2) pyrimidine nucleotides

(3) iron porphyrin proteins

(4) metal containing flavoproteins

"R §

(1) TyiRfe fResienge § iy

(2) il fRrsenEs '

(3) A dEnia wA=w
(4) O WEmdw #§ wfie

38
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Gold Schmidt has classified evolution into micro-, macro- and mega- mlulmn
Which one of the following is referred to as micro-evolution?

(1) Evolution at variety level

(2) Evolution at subspecies level

(3) Evolution at species and genus level
{4} Evolution at family level |

eefere 3 R B -, AW- 7o Am-feea § ofigr R b1 Pl
A wgwr-fawm A wzffa fsm mn 27

(1) ¥ "R W e (2) 9o ¥° W Rwm
(3) wfa aur sfve "R R R ﬁ]ﬁﬁﬂtm

Development of unrelated groups of animals along parallel lines in adaptation to
a similar environment is called

(1) adaptive convergence (2) adaptive radiation
(3) adaptive divergence (4) adaptive induction

nﬂqmﬁwﬁﬂmqﬂaﬁ.mmtwtm,mmtl
7w weemar }

(1) Fggeh Tt (2} e Ewr
(3) srggEh ST (4) sy st
Acrology deals with the study of
(1) fossils : (2) ticks and mites
{3) molluscs (4) coral reef
39 (P.T.0.)
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134.

138.

136.
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werath ey % s w oo ¥
(1) oftarm | (2) ferht o poht
(3) iR (4) warafif

The action potential in a mammalian nerve fiber is generated by
{1} Na* ions (2) K* ions (3) Cl” ions (4) Ca™™ ions
v Wi oy F P oo e Jenfda o R

(1) Na* S®®  (2) K* 3Tem (3) CI" M (4) Ca** R

The procesa of genetic mutation is

(1) reversible (2} irreversible

(3) partially reversible (4) continuous

gt seofada wfn @t # |

(1) whvaed ) sfew (3) rifins Rl (4) A

Which of the following does not belong to Phylum Coclenterata?

(1) Sea pen (2) Sea feather |

(3) Sea cucumber (4) Sea fan

Pt ¥ ¥ e ww § afdRe T 4

(1) = 93 (2} & &= (3) # FH 4) & &=
40
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Maurer’s dots are observed in the erythracytes of man if these are infected with
{1} Plasmodium vivax (2} Plasmodium faiciparum

(3) Plasmodium ovale (4) Plasmodium malariae

ward weg W & Rutaneg § smeiie 0 K ol 3 P @ awhe 8

(1) iR i (2) wRERTT FeRiE

(3) TR e (4) IR TR

Which one of the following cancer is prevalent in human beings?

(1) Carcinoma (2 Lymphoma (3) Sarcoma ' (4) Mclanoma

frex & @ W-w & g A waite wwn amn 47

(1) =R (2) fersra (3) WRw (4) Fd=m

Kala-azar is transmitted by
(1) Tse Tse fly  {2) Dragonily (3) Sandfly (4) Fruit fly
werem B & o v ww

(1) @ & 2) e (3) &-=vemy (4) BT FEMg
The genetic material of a virus is
(1} DNA (2) RNA
(3) either DNA or RNA {4) Both DNA and RNA
41 (P.T.O.}
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141"

are § srpEfiee IqEm e 4
(1) ¥ewqeTe (2) HARoTAeeo

(3) ¥oWoTe a1 HMTHoRe (4) FoWeQo GH HRoWHeTo AT

Which of the following pair of scientists had proposed fluid mosaic model of
plasma membrane?

(1) Gorter and Grendel (2) Singer and Nicolson

(3} Cereijido and Rotunno (4) Sleigh and Jennings

143,

ﬁm#%mmiwmmtmﬁmmﬁmﬁm
a7

(1) TR m e (2) fomr T e

(3) Rt 7o Iz (4) whe 2o Ay
Sleeping sickness is caused by

{1) Trypanosoma gambiense (2) Trypanosoma rangeli
(3) Trypanosoma brucei (4) Trypanosoma cruzi
fior m = &z wm 2

(1) R fafed (2} R twfer

(3) Rérebn gt (4) R 5ol

42
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The visual pigment is compased of four components. Three components are
(a) prosthetic group, (b} protein moiety and (c) a six sugar polysaccharide chain.
Which one is the fourth component?

(1) Glycolipoprotein (2) Phospholipid

(3) Phosphoprotein (4) Glycoprotein

gy Ui WK weRl w own g ¥ A W (%) Wefes wHE, (@) WA A
g (1) @ B U Geiiwos ¥ e vew FE-w R0

(1) =TERETEETER (2} wiewifais

(3) wiemsdT (4) REATA

Which one of the following hormones of the pituitary gland is a direct acting
hormone that is without interaction of other hormone?

Aofafen # ¥ Fa-@ oy o W e v, @ e R, W AR e
Wt o e & fen W W @7 |

(1) TSH (2) ACTH (3) LH (4) MSH

Which one of the following is the function of glucagon hormone?
(1) Increases uptake of glucose and amino acids by, cells

(2) Stimulates glycogenolysis and release of glucose from liver cells
(3] Decreases blood glucose level

(4) Increases glycogenesis

43 (P.T.0)
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146.

147,
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frefrfm § | ¥-w @ wpeein wEE W e

(1) BfEm ZO TEEEE STl § SRETE g

(2) =rEidenREm W sife W T T S A e s o
(3) sfte whT =R W W

(4) vempRfeAfEE w wFE

Abzymes are

(1) hydrolascs (2) antigens (3) antibodies (4) proteases
s §

(1) eegad (2) T (3) et (4) Sifew

Plasmagenes are

" (1) genes present in plasma membrane

(2) genes present in chloroplast and mitochondria
(3) genes present in plastida

(4) genes present in mitochondria

i &

(1) wrn fgt 4 f@m = |

(2) ¥rrER @ R § wfRe @

(3) wnfRgm # seflm f=

(4) TRERm 3§ oftw @

44
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Which one of the following Ca** dependent cell-cell adhesion protein is
responsible for tissue specific recognition process in vertebrates?

(1) Selectin (2) Cadherin (3} Catanin (4) Vinculin
Peffm 4 @ olm-m ca't e s O waeReat it wow e

- wivww Wi & o IweRl 47
(1) R (2) WfA @) %fA (4) Rergim
The malarial parasite is introduced into the blood of man as a
(1) metacryptozoite (2) cryptozoite
(3) schizont (4) sporozoite
7w % Win § wafan welh W@ wen 4
mmmi (2) ez ¥a #
(3) T ¥ & (4) R w
auerhach*apxexummsuuﬁ;“n
(1) gastrointestinal tract (2) liver
(3) kidney (4] heart
wiyamwe wr B d v §
(1) YR-a @ (2) v (3) g™ 4) ¥

45 (P.T.0,)
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181,

153.

183.
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Section—V
qUE-—V

AGRICULTURE

Which one of the following fertilizers is organic in nature?

(1) Single superphosphate (2) Diammonium phosphate
{3) Urea (4) Ammonium chloride
frefofn § @ #ra-m whos, wnkfs R w® 42 '
(1) Rmra gewwiesz (2) TfamfRm Wiz

(3 Fham (4) SR WS
Deficiency symptom of sulphur first appears on

{1} younger leaves (2) older leaves

(3) middle leaves (4} None of the abovc-
T 6 Wi W T T e e ot

(1) 7§ ol w 2) T o ﬁt

(3} ¥ ot 7 (4) 350w # } fh o1 ol

Select the crop having deep root system
(1) Rice—Wheat—Maize (2) Sugarcane—Safflower—Castor
(3) Groundnut—Tobacco—Papaya  (4) Onion—Garlic—Leafy vegetables

46
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ﬁwiiw@nmﬂmqﬂrmmﬂ

(1) TRl (2} T

(3) Wreeht—awarg—adia (4) WR—eveg—ueieR afewat

pH value of the saline alkali soil will be

(1} >8-5 (2) <8-5 (3} =8.5 (4) None of these
v apefiy @ @1 dowme W R

(1) >8-5 2) <B.5 {3) =8:5 o (4) w A e
The most stable measure of central location is

{1} Arithmetic Mean " (2) Median

(3] Mode (4) Harmonic Mean

2 Wt = waem mw de }

(1) eAR T (2) wifes (3) W (4) TWEifE e

If the lower and upper limits of a class interval are 20 and 35 respectively, then

the mid-point of the class will be

M w T wm B w @ afwew @ w20 @ 35 , @ & W

i @m

(1) 55 (2) 275 (3) 15 @) 175

Which of the following is family of guava?
(1) Solanaceae (2] Myrtaceae (3) Cariaceae (4) Rosaceae

47 (P.T.0.)
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188.

189.

160.

161.

e & & ez @ - SRl k7
(1) wrene (2) P (3) dfoasft (4) Ot

Which of the following vegetables is rich source of vitamin C ?

(1} Chilli (2) Cauliflower (3} Cluster bean {4) Okra
frm & ® W~ v @ fAfe C aftw W A7
(1) frd (2) TR (3) v Wi 4 Rl

Television broadmtt started in India in the year
refftm w1 werm fem wt Y& wan?
(1) 1985 (2) 1965 (3) 1957  (4) 1960

Community development programme started in the year
wnqeres Rrem wedww fise o sow gan?

(1) 1965 (2) 1952 (3) 1948 (4) 1958
First Agricultural University in India is

(1) TNAU, Coimbatore. (2) GBPUAT, Pantnagar

(3) UAS, Bangaluru (4) ANGRAU, Hyderabad
A ¥ ueen Wi fevafioew 4

(1) PoTHeeYo, WrwAT (2) MoMefeqeqedo, YR
(3) Yeqewme, gy I —



163.

163.

164,

168.

Wheat is a crop grown during
(1) Zaid

15U/102/4 Set No. 1

(2) Rabi

(3) Kharif (4) All season crop

™ frn dran B w47

(1) www (2) wht (3) Wi (4) @t e
Self-pollination is a form of

(1) inbreeding (2) outbreeding

(3) random mating (4) All of these

e sfien e w9 47

(1) waifén @) yeifen @) tem A (4) Wit ¥ wof
Basic chromosome no. (x) of wheat is

W & e gy A dEn R b

(1) 21 (2) 42 3) 7 (4) 14

Father of Indian Green Revolution is

(1) Dr. B. P. Pal
(3) Dr. M. 8. Swaminathan
i i =R & R #

(1) ®Te We fo T

(3] ®o e THe T

(2) Dr. Sanjay Rajaram
(4 Dr. Mangala Rai

(2) BTo W TSN

{4) Wle ¥WEN T
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10.

11.
12,
13,
14.

we g fred % 10 fiee ¥ o ) Y @ i e # oot g e 4 ol W e o T
RN Vg T T TR g e e W e v B el e ¥ 2l gt wmow #

vt v 3§ Averer o yéw-or & wARw, foren w1 wra W W e e W 3 3 o

Fer-v v & e v & 1w 2 o o e ot P wE | e Fer-aw ot R s ) e aw-
o w1 Tt e fawar ambw |

N SIS T TR-VY & Wi vew amve-yr W oy @ iy wm o fed )
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170. Pather of Economics is

(1) Marshall {2) Robbins .(3) Adam Smith {4) J. M. Keynes
wiom % o &
(1) wmfa (2) s (3) e B {4) R0 TRo W
. 171. Which one of the following can be suitably grown as a mixed crop with wheat?
(1) Caulifiower {2} Brinjal (3) Cotton {4) Mustard
frer 4 @ A N & ww PP wm % W & mm w47
(1) ewisdt (2) ¥m (3) ¥a (4) W
173. Which of the following is nut.l-nmluhcmp? '
(1) Sugarcane  (2) Cotton  (3) Groundnut  (4) Wheat
frafrim & @ ¥R- ) waw W X7
(1) (2) W (3) much @ -
173. Which State of India is the largest rubber producer?
(1} Karnataka (2) Kerala
{3) Tamil Nadu (4) Andhra Pradesh
R W -3 TS T R w7
(1) *iH @ (3) afrerTg {4) SR
174. What is the chemical name of laughing gas? |
(1) Hydrogen sulphide (2) Nitrogen peroxide
(3) Nitrous oxide (4) Nitrogen dioxide

(304) 51 , (P.T.0.)
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178.

176.

177.

(304)

e e w vamfes am w0 A7

(1) ETHET TERE (2) TR IrRaTwaTys
(3) TgE T (4) TR FThATTES

Lab to land programme was started by

(1} Government of India

(2) Government of Punjab

(3) Government of Maharashtra

(4] Indian Council of Agricultural Research {ICAR)
TN ® R 7 wRwn feed o wow gan?

(1) WA R |

(2] oM TR

(3) WERIE HOHR

(4) YR wfee s fivewe fod (mfodionomo)

Study of green aquatic thallophytes ia known as
(1) Parasitology (2) Phycology (3) Mycology
Tp-ugid welin vt dY & womw W oW o A7

(1) T-wifent (2) T e (3) WEE NG

Sub-cellular components are separated by means of
(1) chromatography '

(2) autoradiography

(3) electrophoresais

(4) differential and density gradient centrifugation

52

(4) Myology

(4) wraey s
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Te-wih T B Sem s3 H wirn 8 g ) awh e
(1) Ivi-vem

(2) w-Rfehiy few

(3) F APIFO T

(4) FhiEm g ava Rfteen qodre

Occurrence of two or more types of leave on same plant is known as

(1) dioecy (2) dichogamy (3] multi-pinnate (4} heteraphylly

? 7 s v ) Rl w1 o @ M W o e s e A7

(1) yu feoh () fom W v

(3) wg-vofig (4) Tom—qoifa

Which one is the most mutable virus?

{1} Chicken-pox virus (2) HIV

(3) Influenza virus (4) Dengu virus

fer # B W T wftn R o 47

(1) & en faremy (2 T P

(3} v, Rrery (4) & frg

What is bacteriophage?

(1) Virus attacking bacteria (2) Virus attacking virus

[3] Bacterium attacking virus {4) Bacterium attacking bacterium
53 (P.T.0.)
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drampereht W= B 47 _ .

(1) sframy # s fem (2) faary 3 s famg

(3) frryy % wwmw AT (4) ey # W iy
181. The tissue henringdr.;ad cells is

(1) collenchyma {2) parenchyma

(3) xylem (4 phellogen

sl Wiftead el B " T §7

(1) Tq@ W " (2) e et Prge

(3) T® T , {4) FPTRH T

182. Poured with which of the following the fresh grapes shrink?

(1) Hot water (2] Cold water

(3) Sweet solution _ (4) Salty solution |

frer A P Tm vt W s Ty WA §7

(1) W = (2) 3 "W (3) #3 A= (4) 6 9@

183. Mendel did not work on wl:l.ich-nf the following?
(1) Plant height in pea (2) Seed colour in pea
(3) Pod number in pea (4) Pod size in pea

(304) . 54
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e A e § @ few w wm ol e

(1) wx 9 6 v (2) weX #w w1 W

(3) w=x ==t 6t "= {4) weX weft & W
Apple is a _

(1) true fruit (2) false fruit

(3) vegetable {4) parthenocarpic fruit
W e k7

(1) ol wet . (2) yarafEE v

() wwii (4) wFRfm s

Which of the following fertilizers is the only fertilizer under statutory price
control?

(1) Potash (2) Ammonia
(3) Urea {4) Phosphate
Prefolm st & @ w-a sde Rifew e B & sl s 87
(1) raw : (2) arfran
@) | (4) W
55 (P.T.0.)
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186.

187.

(304)

Which of the following is a.case of genetic engineering?

(1) Developing green-flowered plants through crossing blue- and yellow-
flowered plnnt.l_

(2} Improving a plant with the addition of a useful gene from fish
(3] Improving a plant through seed irradiation with Gamma-rays
(4) Improvement of a plant through tissue culture

fa d & ¥ agafie sfmfAd & B by

(1) & go 7@ it fd por A I ¥ T @ R pE A D W P
(2) wwelt & urf wf oyt W@ Te am o W W sy W fed P ¥

ot
(3) M fol & Ww dnen g el S W Rew
(4) 3% wada g fawmh de w1 e

What is Bt cotton?

{1} High-yielding hybrid of American cotton
(2] Discase resistant variety of cotton

(3} Insect resistant variety of cotton

(4) Drought resistant variety of cotton
Wodlo waTH W Wy &7

(1) s s sRfees W wom
(2) ®UrR H I-Dus wR
(3) wure # €e-Trew wnfy
(4} ¥ W gEn-dew iy
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188. In which field was Nobel Prize conferred upon Norman E. Borlaug?
(1) Physiology and Medicine (2) Agricultural Science
(3) Peace {4} Genetics
A fo dehn @ Py # @ P v g e geeR @ werR R T
(1) ol B @@ oiwfy Rm (2) F R
(3) A 7 mfA (4) smafody s

189. GMO stands for what?
(1) Genetically Modified Organiams
(2) Genetically Multiplied Organiams
(3) Green Modified Organisms -
(4) Green Modified Orange
Hogmoadle w1 @M A &4 | R gwiar &7

(1) wgafys fafe g st dfm (2) et Rf o wfm e
(3) wia waafa (4) e wutE daQ

190. Cell theory was first formulated by
(1) Schleiden and Schwann (2) Rudolf Virchow
(3) A. V. Leeuwenhoek (4) Ruth Sagar

(304) 57 (P.T.O.)
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191.

192.

193-

(304)

frm # } wiften Rz fea wwftm fem?
(1) VT @ aEw (2) Wew wafta

{3) To He AT (4) 0 ER

Which of the following possesses chloroplasts?

(1) Photosynthetic bacteria (2) Blue-green algae
(3) Green plant cells (4) Fungal cells
frm # @ ferlt wieems sfEm fo 7

(1) et ey (2) #a-fa da=
(3) ¥ & H wfiew (4) w6 HfRE

Which of the two living organisms symbiotically dwell together to form a lichen
structure? - °

(1) Blue-green algae and virus (2) Fungi and virus
(3] Algae and fungi ~ (4) Bacteria and virus

e d 3 o @ e o o am F@ g R T vl s W fwin
= 7

(1) He-efn dare (2) o oy
(3) Yot vd (4) “fary @ R
Trypsin is basically what? |
{1} Fatty acid (2) Sugar
(3) Oligo-nucleotide (4) Protein

| 58
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qem: fffFm == dm @2
(1) =g 3= (2) vk
(3) snfewd-ferarave (4) W
194. Which of these is not a C, plant?
(1) Maize (2) Rice (3) Sorghum (4) Sugarcane
fm & 3 & c, da 1 #7
(1) v (2} WR (3) w&N (4) T

198. = Which of these fixes nitrogen inside leguminous plant roots?
(1) Rhizobium (2) Anabaena (3) Azotobacter (4) Azolla
Pt 3 & W Sl T e B e e -Rtw B R @ e 47
(1) TEan (2) T (3) GeiteHvet (4) gaiter

196. Which of these is placed in the category of microbes?

(1) Hydrilla (2) Azolla (3) Salmonella (4} Earthworm

A § 3 @ S A doh F am #7

(1) Wi 2) @t {3) wIT (4) Fqan
197. Where is the International Rice Research Institute located?

(1) Manila (2) Chicago (3) Cairo (4) Cuttack

FiPR o e T T R 87

(1) wen (2) frsm) (3) wfvn (4) FH

(304) 59 (P.T.0,)
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198. Which of the following is a vertebrate animal?

199.

(1) Prawn (@) Snake  (3) Mosquito  (4) Octopus

frer f A fgurd Ty WA A7

(1) ¥m {2) ®hy (3) 7= (4) TEaTg

Life span of blood platelets i8 about
(1) 3-5 days {2) 7-8 days

(3) 10-12 days (4) 100~120 days
W 7w W AaTeE A W e 87
(1) 3-5 fm (2) 7-8 f&m {3} 10-12 f&a (4) 100-120 &R

Which of the following organisms prove to be most useful in genetic engineering
studies?

(1) Brassica oleruceae (2) Glycine max
(3} Azadirecta indica (4) Escherichia coli

:@ﬂmuhﬁﬁﬁqhhﬁﬂ#m#nﬁmaﬂﬁmﬁzm
7

(1) e St (2) ™R dw
(3) Tafdlwer yRRwr (4) wR A wemy

k-
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10.

11.

13.

13.

14.

v e et & 10 fie & s @ 3@ & B e d wlt gy ot € ok s
o o ¥ i AT W YR W W e T w6-fiee w i w gt e #
= gfem wwm o=

vitgr wed # forww wem ¥Ew-vR & Hfaew, fon mowm wE M gen s Wy ¥ 3 @

Ta-T7 s A o o ) p@ 7 @ 9 Sk o7 @ frgw w1 gen aw-ve T Ry wrdm, dwe T w-
v W o qevsT fem

SN SIEAE AW FH-UF W FAE GyR dEw-7E W W A fwifm wa g fed

M-I ¥ TN T W W A FUW AR Feiftr wmm w fed o AR frd ol W o o= #
w-wl snmvaw Wt ! wE-gfere W ownE Tw ¥ W TR I e w fed

o TFe Mo TF W N wH® uem, w-Ifemm wem u w2 wew (ufg A ) " we-gfew
#FE® de W Fo THe FWe W Ho F whEfbW I fivrww =t armfy A 4

g% wfafed! 4 ®f i sfteds ww e g wofom 2 orfd s o @ srfam TR @ e
QU @ |

yE-fa U wEE 99 & 90 Asfeus aw TR mh ¥ s m & deftvw 9or & 9 anve Im-
V¥ & Fran 9w & wed B o gw @) owv-uw & gww 9y ow R @ el & spEw 97 R T
ww &

TFE M FmM s dan R IR MR @R SE g R Te T W s =
T W W M W oAy FW OTEE W s

v 2 5 uF W7 = g sifee I o9gen o o w3 oft sy fedt wvm oW v oY o v
g wafam dfs F aom fi @ o gd W @ g 3 @ wd W g s TR

T T oaw-yfas § gETe ¥ aree wet g Awn sifew g oW wEm wl
ity F ITOR FIA MoyWodTe TAT-UF WM R H W %l )
iy AW A W UEE TAE WaR 9§ Wet W W ageta e st
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